Tk L E-CIAIZ|

o= Z1™ollA DABCD & vhEEolt
AE =BF = CG =DH¢¥ @, OEFGH+ o¥

A2 G A7k

2. & 1304 DABCDE= Aol 1,
/PAQ =45°, ZAPQ=60°¥ o], ZAQD 2]

2717

A D
45°
Q
607

B P C

@ 45° @ 55°

@ 75° ® 85°

3. oS 139 AAME ABCD oA ZAQD = 70°Y

of, ZPCD ¢] A7|& +-5fo]=t.

A

Bos

® 65°

4.

5.

ohe TelA A M, N2 AA2H ABCD o] 5 #
AB, CD 9] Z4olct. DAMEF o] Hol& Fatoie}.

A,——"GCm"\\D
' M
4
crx\x ) N
\\” E
B C

ohE 199) BHAPEP ABCD ol A La + Lb+ Lo
o 2718 atelet.




PP ] AL CE oleH
AABC®t ACDAYIA ACE 35 O
AB//CD°]|2& /BAC = /DCA---Q

AD //BCo|2& /BCA = /DAC---O

9, ©, ©°f 9Jal4 AABC = ACDA( ASA 3

)

. /A=/C,/B=/D

2

@ HAA ARGl A 5 o] guio] Pol 77
z

@ WBAPAYANAH 5 4] qizte] 3717} 242
2.

Q22 799] ZALZtE ABCD of| A

AD = 12cm, AB =8cm ©]1 H F = tJZ}4 BD &
At BstE g otk F o)A DC o 12 $49]
12 E 2 2 ), FE ¢ 4o]& Fstolet

_---12em--__

T
=
o

@ 8cm @ Tcm ® 6cm

@ 5cm ® 4cm

8. & a4 AB = 4cm

, AD = 12cm Q1 HPAIHY

ABCD 9] ¥ ¢& 4 j

P =% 02cm & £E &

JAdMABEAYC7A B C

&0l A QL iz 0.3cm 9 £EE A A oA

EAUC7HA] =AM AP, Q7 HAE
Alof| EEFSIRE] AABP ¢ ACDQ 71 5]

7—]_3_ o =z 01—0:1%

A2 9 2 54

D
EX
[}

)
> n

9. thg 13} -2 OABCD 9] ZF Hol 48 A=

P, Q, R, S &2 & o, OPQRS + od

AP R17Y?
A
P S
B Q R™=p
@® mER @ AATY
® AN @ AtereE

10. o 27 22 GAZHY ABCD oA
EB=FC=GD =HA7} 5|=5& 7 ¥ 9o A
E, F, G, HE &S 1, Lz 9] 272

H

A D
E
G
B F C
@ 20° @ 25° @ 30°
@ 40° ® 45°




11. o8& 134 OABCD+= AD //BC¢l

£DBC 9] A7|& oo},
A D
LN,
12. BPAPAE ABCD A
oA LA, /B ] X
ols RSl Y-S P 2 P
o, ZAPB=( )°
o]t} ( kel B -
oruke 42 Fatelet,
13. oS T} e Paard A
3 ABCD °llA ZA =90°,
AB = BC ¢ 4, DABCD
= o\ AR A7
B
O A2+ @ HHAAY
® u=n @ ZAER
® AtteE

16.

15.

A /,loncm\\ D

B ]

2cmE F C
o3 293t A D
Zro] Ho]7t 40 cm?
ol WYAHF ABCD 0 F
oA F el wH

B C

0% Av: 47
AB, CD9e] wde Z47L E, Fat & of, AT 7
271 2] yolo] g Fatofat.

o 3 BRI
ABCD ¢] AOBC ¢}
AOCD 9] B8 E
2 gt 2429

@ 1lcm, 12cm

@ 12cm, 12cm

® 12cm, 13cm @ 13cm, 12cm

® 13cm, 13cm




17. ohg I 9] A2t ABCD 7+ AAzrg o] =7
g =7 BT Zrolat,

@ AB=CD

© AB//CD

© ACLBD

® ZA+ /B =180°
® BO=DO

® AB=BC

18. ot 133} Zo] AD//BC ¢! Ateta]E ABCD oA
BO = 2DO0 ©°|t}. ADOC = 12cm? € ©], AABC 9]
“Fotolet,

Hols

19. otg 13oj|A Altte]E ABCD += AD//BC , o|1
OC = 3A0 o]t}, AAOB = 9cm? ¥ o, AACD 9]
“Fotoiat,

HolE

® 8cm

@ 7.5cm

® 7em

@ 8.5cm ® 9cm




